15 2 1,580

EREERE

THE =i 85

A =5
f

(R [E| . |E

2 | saim | o | 2 | i | T

ER | R

ik A

I SR RERRH R mESREE )

oEEE { MEFDIERTRIER

-B SR EREE
HEE 4
< EEFERI RS
OA w2 SR BENF

— iR EARCRIE T, P, Bl S5k
—EFRERER EETIE HEE
—ELpE(EL TE)

O7A- iR RER L3R
— JEER GDEIL. kY
—EEFENS EEFEE
—REFREDR BRI
(EE MR H =0t 2E )




15 2 1,580
7 10 L 2 2,920 7 7
38 15
1km? 79 3 1
1 10
1 15
S 8P, %
& E = B EES ol
TR o R TR, TR R
£=[E 31,5941 100.0 15,166; 100.0 T,008; 100.0 206960 100.0 3,068 100.0 3,665; 1000
LB 2,168: 6.8 TO3: 4.6 )i 8.4 404: 160 ZEA 0.4 175! 4.7
ik 38881 122 1,570 103 BE6: 126 475 1T.6 4710 15.4 457 125
BE B,23400 264 4,041 328 14120 20.2 306 114 A127  20.0 1,076 203
AR 1,180} 3.7 5561 3.7 222 3.2 133! 4.0 144! 4.7 125: 3.4
HE 3,668 116 1,686: 11.1 1,083: 15.0 215: T.0 GEF 125 323! B.E
e 4,495 142 2,392; 158 048; 135 193! T.2 3140 10,3 G47:  17.7
HE 2,002 7.3 0BG A.5 A0E: 8.7 250 8.5 26T 8.7 201 5.5
P E 1,3241 4.2 481 3.2 JEE: 5.5 180! 5.0 174! 5.7 1261 3.4
Fakil 3,Ta4: 120 1,603  10.6 TEd: 113 5il: 180 GEAT 126 406: 135
bliin) 4021 1.6 248! 1.6 111; 1.6 T 2.6 21! 0.7 42! 1.1
5
5
15 7,030 5
33
12
5,910 8 27
11 2 22 km?
4
4,040 19
15
5,110 4,750 7
15 km? 7
2 860
9 22 5 2
10 km? 4

1,730




3

&t Eif EF BfF B+ ot

ESE| 100.0 48.0 22.2 8.5 8.7 11.6

AbiEid 100.0 32.6 27.4 18.7 13.3 8.0

CEH 100.0 40.7 23.0 12.3 12.2 11.5

(kN 100.0 59.2 16.9 3.7 7.3 12.9

AEEE 100.0 47.1 15.8 11.3 12.2 10.5

CE 100.0 46.1 28.5 5.5 10.5 8.5

i 100.0 53.2 21.1 4.3 7.0 14.4

HE] 100.0 43.0 26.5 10.0 116 8.5

eS| 100.0 36.2 29.2 12.0 13.1 8.5

FH 100.0 42.4 20.9 13.5 10.2 13.1

iR 100.0 50.4 22,5 14.2 4.3 8.5

1
B M
&t £ EF Bif E+ st
E3E] 249 120 55 21 24 20
ALiEE 382 124 105 T2 51 31
CEA 316 129 T3 39 39 3T
B 191 113 32 T 14 25
AbE 378 175 71 43 48 401
B 248 114 71 14 26 22
i 218 116 46 g 15 31
HIE] 207 125 79 30 3 26
P 319 116 o3 38 42 30
A 282 119 59 38 20 3T
iR 361 182 81 51 15 31
1
B 5 AM. km2

&t EiE EF =3 E+ i

E3E] 264 122 56 22 25 29

itimiE 79 26 22 15 10 B

CER 166 67 38 20 20 20

B 383 227 65 14 28 40

AEEE 314 148 5Q 35 38 33

R 340 175 110 22 41 3

e 531 283 112 23 37 T

HE 26T 115 Tl 27 31 23

FEIE] 275 100 50 33 36 26

.l 245 104 Bl 33 25 32

iR 400 202 a0 57 17 3

4,400 15 5
15 6




10

14

(E#EM

400
350
300
260 m Tt
oE+
&00 O &=+
mEE
150 m =
100
50
n
5 a9 10 11 12 13 14 15
(%) g
16
14
12
—— ¥
10 —— X
e A Bt
8 e - Et
—— FMiih
G
P e e
2
|:| 1
5 i 10 11 12 132 14 15
15
15
5 4 6
3 8 2 7
16




9 8 7 7
5 4 4
3 3
10

1906 B {ffit8, Bi{ Ak
i mE iz = O S
T RELE §# nf H TR LE THREEE | Tl (Rt EE
S 193.0: 100.0] 27.5! 100.0 4.10 1000 238 100.0] 407! 100.0
ibigiE 5.0 7.8 2.7 84 0.3 T8 1.0i 4.2 2.00 449
&t 2400 124 361 133 0.3 T 0& 35 3l TT
FSEAEEIH B2.Ti 2713 400 148 181 440 105 438 164! 403
JbFE B0 3l 0.0 3.l 0.0f 12 0.2i 0.9 1.00 2.5
B 20,7 10.7 24f BE 0.1 25 200 82 T 6.2
£5i 2820 145 4.00 144 04! 95 BBl 245 g4 206
¢E 1530 1.8 24! 84 0.3 6.5 0.5 3.3 2.3 BB
FuE 9.7 BD 1.61 B0 020 41 05 2.0 0.7f 1.8
ALk 19.28 9.9 4.8 17TH 05 132 210 86 2.8 68
i 2.4 1.0 1.00 3.5 010 3.8 028 0.7 0.2 0.5
I ki BEm | g sl
n3g iEE EAEL | o L |l £ |t RELL
= 8.51 100.0]  39.2¢ 100.0 .61 100.0] A9.9¢ 100.0] 105! 100.0
ibigiE 0,37 3.5 1.6 4.1 0.3 3.g 3.3 65 0.9 8.3
it 0B 9.2 4.1 105 0.6 T4 76 10.8 1.71 16.8
REE Bz 3.0 3/1) 1410 360 36 41.2| 225 3.2 2.0 19.8
IbFE 0.2f 2.3 100 2.6 0.2 2.8 221 3.2 050 B2
i L1} 128 400 103 0.8 1003 7.6 109 131 12,5
F5E 151 16.7 .80 173 1.5 17.8) 1121 141 0.9 &85
== 3| 0.5 6.1 o4i B2 04! 45 470 6T 0.8 8.0
29[ 3 0.4 4.1 100 2.4 0.2 2.3 231 33 0.3 7.
ALk 0.5 9.5 340 BE 078 85 T.00 10,0 1.5} 13.9
i 0.1f  0.& 0.7 1.8 0.1 1.y 0ol 1.3 000 0.2
= O mE BE ] BmE IT%R ..
| Ak THEREEE TR LE AELL | SjiE R
= [F 59.00 100.0 B.5 100.0] 64.4: 100.0[  11.1: 100.0 3.1% 100.0
ibigis 4.6 7.0 04! BEA 05 148 1.8} 16.5 0.0 14
it 8.80 144 1.0} 16.4| 13.6F 21.1 1.80 17.2 0.3 8.7
FSEAEEH 13l 22.2 05! &7 8.5 132 0.9 7.8 0.5} 26.5
JbFE 2EI 4.2 0.4 6.4 3.3 B2 0.4 3.7 0.1f 2.8
I 6.5 11.4 0.4 158 G50 102 0.7: 68 0.6 179
5 T 13 0.5 T8 4.4 69 06 5.3 0.4 14.0
¢E 4.5 8.l 05! &4 B3P 8.2 1.0i 9.0 0.5 15.5
mE 300 6.0 0.8 10.1 300 48 0.8 7.3 0.1F 4.8
ALk T4 125 115 183 020 144 2.7 24.1 0.2 7.2
R | 0.30 0.5 0a: 1@ 0.8 1.4 0.3, 2.3 000 1.3




